A & 0l & A

20168 & =204t JIEtSESIH A (&)
2Ok 22 - IBAY - SRAAH (S H) Ol &k o HE T Ol Ak A HwE2 pp—
sSEE
S Al 69,015,898 60,125,312 8,890,586 14.79%
ALY 52,933,284 45,069,496 7,863,788 17.45%
HWegs 15,984,502 14,965,512 1,018,990 6.81%
HE2HZH 98,112 90,304 7,808 8.65%
g}FES 24,572,212 14,892,886 9,679,326 64.99%
ot - =2 10,925,033 13,656,463 A2,731,430 A 20.00%
FEINHEEYH 29 41,000 36,000 5,000 13.89%
=HNLSESH 2S(=RNLSEAH) 41,000 36,000 5,000 13.89%
Not=SE3 A2 2,683,531 2,126,204 557,327 26.21%
Not=S3 2L (Xot=SL3) 2,683,531 2,126,204 557,327 26.21%
Hess(2aZ M) 8,000,502 11,272,259 N3,271,757 A 29.02%
UWERHHXES(=EHESE3A) 8,000,502 11,272,259 N3,271,757 N 29.02%
Heas(6h+=m) 200,000 222,000 A22,000 29.91%
HEAHHX & (XSS 3 H) 200,000 222,000 A22,000 AN9.91%
HOI2 13,647,179 1,236,423 12,410,756 1003.76%
HIOISHM2AANEMNSSEIIAH 2 5,948,179 85,170 5,863,009 6883.89%
HIOISEM2AEMLESSH 22 (HIISHM 5,948,179 85,170 5,863,009 6883.89%
ANEASES3)
Heass(E3amn) 7,699,000 1,151,253 6,547,747 568.75%
SBENE(HIISHMAANEAISEL S H) 7,699,000 0 7,699,000 =3
tal =Xl 4,390,462 4,226,314 164,148 3.88%
=dged 60,000 65,000 A5,000 AT .69%
Heags(uegerdit) 60,000 65,000 5,000 AT .69%
BHEXNE(YES0HISETLESESA) 60,000 65,000 25,000 AT .69%
FAHSXE 4,330,462 4,161,314 169, 148 4.06%
2slIsxdSEsH &9 4,330,462 4,161,314 169, 148 4.06%
AEZNHIISELEELINH 2L (Y=220I12 4,330,462 4,161,314 169, 148 4.06%
THEE3A)
S2us 30,662,420 33,052,820 2,390,400 AT .23%
SANEE 30,662,420 33,052,820 2,390,400 AT .23%
SANEEAMY SE3H 2 30,662,420 33,052,820 2,390,400 AT .23%
EAI?EM% S 2L (SAEBZAESEE 30,662,420 33,062,820 22,390,400 AT .23%
3 Al

=EYXANLY 9,292,692 7,862,988 1,429,704 18.18%
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